Liquid composition known

(i.e., Bubble Point)

«+—— Gas consists only of benzene & toluene
Find: Py, Y8, Y1

Liquid at 25°C consists of:
35 mol% benzene
65 mol% toluene

Using Antoine equation, at 25°C
P*p=95.1 mm Hg
P*1=28.5 mm Hg

Raoult’s Law for each species:
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Gas composition known

(i.e., Dew Point)
«+— Gas at 2 atm (1520 mm Hg) consists of
Find: T, xg, Xr 40 mol% benzene
60 mol% toluene

T=92
Using Antoine equation, at guessed T
P*g =7 mm Hg
P*1=?mm Hg
Raoult’s Law for each species: G o p
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Flash Calculation

P & T known

V (unknown) e faain
y; (unknown)

1 mol/min
Z Neon = 0.6

2 N = 0.4 .
= L (unknown) Ml/wv"'\

X; (unknown)

Using Antoine equation, at 85°C
P*Eron = 985.1 mm Hg

P*Etc1 = 6362.45 mm Hg
Piot =2 atm = 1520 mm Hg

Total Mole Balance: = V 4+ L.
Balance on EtOH: . Q(,\ = Yerod V + XgioH L

Raoult’s Law for each species:
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